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 Worksheet No. 2: Give what is ask.                                                                                          

 

 
 

 

G.

1.(-12) + ( -12) =

2. 12 - (-12) =

3. (-12) X (-12) =

4. (12) ÷ (-12) =

A.

1. -90 + 100 = 

2. 5500 + (-4000) = 

3. (-2340) +  (-420)=

B.

1. -900 - 20 =

2. 650 - (-310)=

3. -11340 - (-600)=

C.

1. -65 X 78 =

2. 7050 X (-30)=

3.(-940 ) X (-10)=

D.

1. -45 ÷ 5 =

2. -720 ÷(-80)=

3.(-10000 ) ÷ (500)=

E.

1. (-3200 ) + (-80 )=

2.(-250) - (10)=

3. 25000 - (-25)=

F.

1. (-600 ) X (-6 )=

2.(-4500) X (5)=

3. 10000 ÷ (-10)=
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Answer Key: 

 

Worksheet No.2 

A. 1. 10                       2. 1500                     3. -2760 

B. 1.-920                   2. 960                     3. -10740 

C. 1. -5070                 2. -211500              3. 9400 

D. 1. -9                      2. 9                           3. -20 

E. 1. -3280           2. -260                     3. 25025 

F. 1. 3600                 2. -22500                  3.-1000 

G. 1. -24                    2.  24                        3. 144                    4. -1 

 


